
Thruster influence on 
magnetometer



Thruster 1

x = -0.009x4 + 0.0029x3 + 0.0236x2 - 0.0026x + 0.0005

y = 0.0356x6 - 0.0015x5 - 0.0572x4 + 0.0033x3 + 0.0386x2 - 0.0016x - 0.0005

z = -0.0015x2 - 0.0005x - 0.0002
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Thruster 2

x = 0.0073x4 - 0.0034x3 - 0.0275x2 + 0.0027x + 5E-05

y = 0.0083x4 - 0.004x3 - 0.0315x2 + 0.0032x - 0.0001

z = -0.0049x2 - 0.0004x - 0.0008
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Thruster 3

x = 0.005x4 - 0.0035x3 - 0.0169x2 + 0.0032x - 0.0009

y = 0.0019x2 + 0.0025x + 0.0013

z = -0.0086x4 + 0.0011x3 + 0.0182x2 - 0.0009x + 0.0006
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Thruster 4

x = -0.0073x4 + 0.0036x3 + 0.0269x2 - 0.0036x + 0.0004

y = 0.0019x2 + 0.0007x - 0.0004

z = -0.0053x2 + 0.0003x + 8E-06
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Thruster 5

x = -0.0056x4 + 0.0022x3 + 0.0177x2 - 0.0022x + 0.0002

y = -0.0005x2 + 0.003x + 0.0009

z = 0.0056x4 - 0.002x3 - 0.0176x2 + 0.002x - 0.0004
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Thruster 6

x = -0.0146x2 - 0.0003x - 0.0004

y = -0.0053x4 + 0.0023x3 + 0.0186x2 - 0.0023x + 9E-05

z = -0.006x2 + 0.0005x - 0.0009
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